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55,0008 * 4944 * 23] 440
OMHAF 018 B2 349 M
55,0002 * 15044 * 23] 1,650
OMAE 2 HSX M=
15020 * 10,0000 * 23| 3,000
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g NS3H 243t
SRl MeHAIE 2E

S X2 (9l & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
202 04t 1,200 1,350 A150
01 =2Uoibl 1,200 1,350 A150
OAZE B A! HIXI0F
200,0008 * 3% * 23] 1,200
203 Y=Y 2,000 2,000 0
03 AlZZ=T QR =AY 2,000 2,000 0
OTHHAI R B LS HEI ALY Al B ETQ 2| 2,000
301 YsrPAS 504 420 84
10 BAEI 243 504 420 84
ORSAH L a0I2res SAY
7,008 * 12% + 63 504
THEHAIR Al STH3H IR 1,218,200 3,136,480 £1,918,280
3 360,000
= 200,000
Al 658,200
ZUAEDL OHOIS EX 602,000 652,000 50,000
3 360,000
Al 242,000
401 Al&HIL 20| 602,000 652,000 50,000
3 360,000
Al 242,000
01 Al&| 600,000 650,000 50,000
O A 600,000
3 360,000
Al 240,000
03 Al& S CH| 2,000 2,000 0
OA& S 2,000
NYHHAE ZLOE HY 403,000 1,969,000 1,566,000
401 AlAHIL 20| 403,000 1,969,000 1,566,000
01 Al&H] 400,000 1,967,000 A1,567,000
OB A 400,000
03 Al& S CH| 3,000 2,000 1,000
OAN& I 3,000
WeHAIZ A& 2K 22l 11,800 1,800 0
201 LByl 11,800 1,800 0
01 At 2ty 3,600 3,600 0
OTHAIZ FIIQHEEALLR
200,008 * 3H 2 600
OMHAIE AESK el
1,000,000 * 34 3,000
02 IZ2Y| 8,200 8,200 0
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OTHHAIE E= HMI|eHM 22|
100,000& * 3JHA * 123 3,600
OMeHAE Hatx Eadl
200,000& * 202 * 18] 400
O&AE St=XelAld I82Y 22|
350,000& * 12& 4,200
MeHAIE AIESUE At 201,400 3,680 197,720
& 200,000
Al 1,400
201 LBt 1,400 1,680 A280
01 AtR2t2ldl 1,400 1,680 A 280
OANEEUSAIY FERARJ S &Y
70,0003 * 10¥ = 23| 1,400
401 AIEHIZ 2O 200,000 0 200,000
= 200,000
01 Al&t| 200,000 0 200,000
OS&MHAE 228 s MY 200,000
& 200,000
NEZH 83 AAEFA 37,600 25,360 12,240
& 7,500
Al 30,100
BUY-GIMHAER & =& 15,000 17,760 A2,760
201 LBt 3,000 6,760 A 3,760
01 AtSR2t2ldl 3,000 6,760 A3,760
OXNSEZHEL3AIE 82 X ME
1502 * 10,0002 * 23| 3,000
202 O4H| 9,000 9,000 0
01 =LHO b 9,000 9,000 0
OZMEagy dRFAHYI 6,000
OZH&eZ NMFEXUHL(ZF) 3,000
203 ERF&d| 3,000 2,000 1,000
03 AIMFEHRFEH| 3,000 2,000 1,000
OXNSZNELSFAHFTE JRFRY| 3,000
dad JdMLs 15,000 2,000 13,000
& 7,500
Al 7,500
201 LBt A Y| 15,000 2,000 13,000
& 7,500
Al 7,500
01 AtE222/H] 15,000 2,000 13,000
OZHLs ZA =
100,000& * 503 » 29 10,000
& 5,000
Al 5,000
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Ha: NAIM 25
ool NHAR BHE AL (69 &)
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
CENFEFIEEEEED 5,000
= 2,500
Al 2,500
A4ZOl X2 7,600 0 7,600
201 Yereg| 7,600 0 7,600
01 At 2ty 7,600 0 7,600
OA4ZO XY 222 A U 9I/(H)3
29| 2,000
OAMZO XE HAR 4F Mol By
70,0008 * 10% * 23] 1,400
OUMA SELMMBHEOIS HNLY
70,0008 * 102 * 43| 2,800
ORESMIHSIAS HMLg
70,0008 * 10% * 23| 1,400
HF2AAU(JRMAED) 140,406 123,202 17,204
p[EEL] 91,240 75,080 16, 160
[CEE 91,240 75,080 16,160
201 Yer2g| 35,800 34,280 1,520
01 At22relb| 35,800 34,280 1,520
ETIER=1 19,000
—IIRAREE YUY 10,000
~=AD L DUHARE 2 4,500
Sl 1 4,500
SEET 16,800
—0R Y HUATLT 24| 16,800
202 01t 55,440 40,800 14,640
01 =LH01 ] 55,440 40,800 14,640
OJNSASEXOGH  220,0008 * 21 * 128 55,440
oIzl 2yl 49,166 48,122 1,044
oIzt 2| 49, 166 48,122 1,044
101 Q1248 36,266 35,222 1,044
03 RINHAD2RE 4 36,266 35,202 1,044
SN ETELRCIET] 36,266
-2 33,0002 * 284 * 2502 16,500
- 4013 16,500,0002 * 4/12 5,500
-R38Y+Y 33,0008 * 2% * 525 3,432
-dRaay 33,0008 * 2% * 152 990
— A 2RAg
6,190 * 28§  25AI2F * 122 3,714
- 34| 120,002 * 22 * 122 2,880
—2spa2 16,500,0002 * 10% 1,650
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